Supgrman Board Problgm

Wanting to measute some effects of gravity, a physics student carrying a stopwatch
steps off a skyscraper. The student accelerates downward at the usual rate of 9.80
m/s’. The building is 300. m high. 5.00 s after the student drops off the building,
Superman arrives and dives straight down at some vy off the roof. Assume that
Superman after hurling himself down, can only accelerate like the rest of us, at 9.80
m/s% What does vo have to be for a rescue just at ground level?
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